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Time: 10 Minutes Paper English 7 (T-1) Total Marks: 10

3rd Month, 4th Week, 3rd Day

Syllabus: Unit # 6: Vocabulary Grammar (Remember + v + vi). Colon,
Quotation Marks

Q.No.1. Choose the correct options. 4
1. We use "has" with:

|(a)| he, she, it |(b)| I, we, you |(c)| she, he, they |(d)| I, you, it |
2. Which of the following is a sign of colon?

2 I ' R = N )

3. The tense which is used for an action that is finished in the past but effect

is still felt in the present is called:

|(a)| simple present |(b)| present perfect |(c)| past perfect |(d)| future perfect |

4. T have not seen him last Monday.

l@| since |  for  jo| v J@o i |
Q.No.2. Write two examples of using colon. ?2)
Q.No.3. Use 'for' or 'since’' in the following sentences: 2)
e She has taught in the school 10 years.

* Man has struggled against the forces of nature times immemorial.

* The farmers have worked in the fields a month.

* They have practised boxing three weeks.

Q.No.4. Tick (v) the correct form of the verb. ?2)

e We has/have bought a computer.
» The pace of life has became/become faster.
* [ has/have completed my homework.

¢ The world population has/have increased rapidly.
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